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COMBINED RUSSIAN OFFENSIVE: SOMEWHERE IN RUSSIA
anzer I ! (1944). A theoretical situation. Two heavily reinforced rifle @

regiments and an independent tank brigade take on a German

- = # infantry regiment. An illustration of problems of unit boundaries — Z 1
and of the infantry support capabilities of certain German armored
vehicles.
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Soviet forces may not cross from one board to another (e.g., from

board 1 to board 2, etc.). They may, however, fire from one board
to another.

Russians set up first east of Route 61.
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Set up west of Rt. 61 after Russian.
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